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Full Marks : 80
Time : 3 hours

res in the margin indicate full marks

The figu
for the questions

Answer either in English or in Assamese

1. Answer the following questions (any ten) :
1x10=10

oo SRR TR (R Pt W)
(a) What is ordinal utility?

ZaS Sl & ?
(b) State the law of equimarginal utility.
e oAl RfEET ey 9 |
(c) Define indifference map.
fRErS (4R THvET fan
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(d) What is the marginal rate of substitution
between two perfectly complementary

goods?
71 *ff ARRe AR RS e afeTEe 7
=232

(e} What is substitution effect?
sifSes s &0

() Mention the ‘Giffen paradox’.
e ST eh Seay w4 |

(@) What is meant by production?
Testw=w o B B

(h) Give one example of implicit cost.

NAPT AT 9B7 Tz o

() What is meant by a person be

Wﬁﬁﬁwwmﬁsm?

() Why is the long-run average
b 8¢ cost curve

risk loverp

W%m@wwwmm@?

(k) What is iso-cost line?
TR @9 9
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( 3)

1y How do you calculate the marginal raté of
technical substitution?

Wg{%mgﬁmmﬁﬁmﬁﬁﬁw
FRa?

(m) Draw an jsoquant curve for perfect

240 |

(n) Mention one m‘lportant reason for
decreasin furns to scale
P el TR O ggrd TR B
41 |

(o) pefine varl

(p) Wwhat are iso-utility curves?

(@ Why 18 average revenue Curve of a firm
under perfect competition horizontal?

o AT @@ e GOR 5T S
mﬁmsﬂgﬁﬁﬂ?

(r) Why are selling costs not incurred in
perfect competition?

vffWa@ﬁﬁ@mmwm?
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(4)

2. Write short answers of the following questions

(any five) : 2x5=10

O IR 5 Seq foar (R coprar “fi55r) :

(a) What is meant by the slope of an iso-cost
line?

Wﬁmq@mmm%m?

(b) Distinguish between gross demand and
net demand.

%m&ﬂwwﬁmmmWﬁﬁwn

() Can we apply the law of diminishing
marginal utility to money? Give reason.

@Wmﬁm%mﬁ@ﬁ%wﬁw

(d) State Slutsky’s equation.

mﬂ%m@ﬁﬂw:‘

(e) If B=x-P, +Y- Py, where B represents
money income of the consumer, P, and
Py represent prices of goods x and 7]
respectively, find the slope of the
€quation.

qﬁ3=x.px+y.py 2, TS B 2% Sogeran
R, P, WE Py T T x W Yy G319 N,
IR BT e |

A23/178 ( Continued )

e




(g What js strong ordering?

(h) Distinguish petwee

3. Answer the following ques‘dons (any foun :
: 5x4=20

WWWW@@@F@):

(a Briefly plain the principle " of
diminishi g marginal rate of
substit 7. Wwhat role does it play in
shaping indifference curves? 3+2=5

( Turn Over)



(b)

()

(6)

P dfee dfees TR MNEE s
1| fers @& M AR crae 3 7 i
AT T ? '

What is income-consumption curve?
Derive income-consumption curve for
normal goods. 1+4=5

SE-TEn @ [ oyefe i wm-
TSIl ([LTCTE 1234 41 |

Explain the
hypothesis.

20 SNEFR AFECO1 T 4 )

revealed preference

(d) Fill in the blanks in the table below -
el ] 42
T ORI <1 SIEAR Rt <4 -
Qutput Total Total Total Average Average
Seamry | cost (T) Jixed variable Jixed variable
cost () cost () cost (T) cost (¥)
w@w) | PRI | PR | TSR | s efeded
wEA) | wWEE) | wmEW) | 9w @)
0 50 — = = B
1 70 o . i Re
2 100 — - I 3
3 120 s i ? ¥ A
4 135 i e = .=
5 150 L R i vy
6 160 5 = il =
£ 165 Lime,




‘)

Examine the following data on outputs
and inputs. What type of returns to

scale does it represent and why? Give
2+3=5

' arguments :

| wﬁm%‘aﬁmwwﬁaﬁ@wﬂ%ﬁ
Wlﬁs@ﬂﬁawwiﬂ%ﬁﬁﬁm

e 5w ? ’ﬂf@ o
Capital (F77) (K) | Labour () (L)| Output (587T7) (Q)
5 8 3
10 16 6
20 32 12
40 64 24

() What is expansion path? Derive

expansion path with the help of diagram.
==

R o) 13 7 foqq FT2H© TP ALY R

4 |
(g) Derive average fixed cost curve from total
fixed cost curve. 5
?ﬁﬁmwmﬁﬁamﬁqu
+4l |
(h) Can a firm under perfect Coxnpetlitj().n
operate in the short-run when 1t L;s
. lain the
akin losses? If so, €xp i
Icrzmditigon with the help of diagram. 1+4=5
( Turn Over )
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(8)

A efSEronEs @ zxeme @5 i
;wwﬁﬂiﬁeﬁﬁwwmmﬁﬁ

AR ? W AR, o R baw >FEe
T 4|

4. Answer the following questions (any Joun :

10x4=40
wm%ﬁm(ﬁmvﬁm:

(@) With the help of indifference curve
analysis, derive individua] and market
demand curve. 6+4=10

ﬁazwcwﬁmqawmw@mﬁmmw
G BIRAT (1 279 3547 |

(b) Explain Slutsky substitutio

n effect for a
rise in price and for a fal]

in price.

5+5=10
mﬁwmmmﬁmﬁ%ﬁﬁw
1 47

() What is meant by
choice? Explain inter-
consumption,

VRSTENS ol Wy &g 2
SABETTS “f=% 7=y <57 |

inter—tempora.l
temporal chojce of

2+8=10
[ PE]
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(d) State and prove gamuelson’s

fundamental theorem of demand.

Mention any tWo limitations of the

theorem. 8+2=10

W@Wwﬁmwﬁwwm
WW\Wﬁ@m@WW
4 |

(e) What are the assumptions of N

the law of diminish_ing returns.

() State
Why do dimini hing returns to a variable
input 0cc € 2 Can they become
4+3+2+1=10
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( 10 )

(g9 What are increasing returns to scale?
Show them on an isoquant map. Explain
the causes of increasing returns to scale.

1+5+4=1(

T AT A 2 SH-Seeime gEaR

RS (Y& | SR Bl TR PReeE
[ |

(h) Define marginal cost. How is it related to
marginal product of a factor? As output
is increased, marginal cost first falls and
then beyond a certain point it rises. How
would you explain it? 1+5+4=10

AfGF T W Pl @B S e
SR T BN ETFA ™o F wrg 2
%aﬂmﬂmqﬁm,m%@mﬁwmmm

Wﬁﬁﬁﬁ%ﬁﬁﬁ@iﬁﬂ:mgﬁ
T A 3131 2

() What is meant by firm’s equilibrium?
Explain how a firm arrives in equilibrium
in the short-run. 2+8=10

WWW%W?WW
<% CFETCT SFETR =TS 37, =71 <6 |
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( 11 )

() Distinguish between market price and
normal price. Explain the determination
of market price in the very short period
under perfect competition. 4+6=10
IGR 7@ = FOE @9 o A1 e w4 |
7o aferfeeTs IR W% ZFeEe IWH W&
fefiae et <or<on <40 |

* & K
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